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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a
map question of 3 marks from Geography. Attach both the maps in your answer book.
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Which one of the following areas was the most source of nationalist tension in Europe
after 1871 ?

(a) The Balkans (b) The Romanians
(c) Great Britain (d) Germania
OR

The main objective of the Viethamese students of ‘Go East Movement” was :
(a) To drive out the French from Vietnam
b) To overthrow the puppet emperor

c) To re-establish the Nguyen dynasty that had been deposed by the french
d) All of these

(
(
(
Which of the following treaty recognised Greece as an independent nation ?
(a) Vienna Treaty of 1815 (b) Constantinople Treaty
(c) Diplomatic Treaty of Sardenia Piedmont (d) None of these

OR
According to Bernard, economic growth in Vietham was obstructed by :
(a) High population
b) Low agricultural productivity

(
(c) Extensive indebtedness among peasants
(d) All of these

The event that marked in the beginning of the Civil Disobedience Movement was :
(a) The demand of Purna Swaraj of 1929

(b) The independence day pledge of 1930

(c)  The violation of Salt Law in 1930

(d) All of these

In 1916, Gandhiji travelled to Champaran in Bihar to inspire the peasant to struggle
against the :

(a) Upper caste people (b) Landless agricultural labourers
(c) Oppressive plantation system (d) None of them

The largest manganese producing state of India is -
(a) Orissa (b) Madhya Pradesh
(c) Karnataka (d) Kerala

Which one of the following minerals belongs to a category which is different from
others?

(a) Mica (b) Gold (c) Copper (d) Iron

Manufacturing Industries are placed in :
(a) Primary sector (b) Secondary sector
(c) Teritiary sector (d) Service sector
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10.

11.

12.

13.

14.

15.

16.

17.

District Roads are maintained by :
(@) PWD (b) Zila Parishad (c) CPWD (d) BRO

The interest groups like trade unions, business associations and professional bodies etc.
are referred as :

(a) Public Interest group (b)  Sectional Interest group
(c) Movement group (d) Pressure group

Who plays a deceisive role in making laws for a country ?
(a) Leaders (b) Parties
(c) Voters (d) Constituencies

The condition for a political party to be recognized as a national party is :

(@) Itmustsecureatleast 6% of total votes in Lok Sabha elections or Assembly elections
in four states.

(b) It must win at least 4 seats in the Lok Sabha
c) Both of these
(d) None of these

—~

Which one of the following features relates to the short term movements ?
(a) National Alliance for people’s movement

(b) They involve more than one issue

(c) They seek to achieve a broad goal

(d) They are single issue movements

The informal sector credit includes loans from :
(a) Money lender (b)  Self help Groups
(c) Co-operative Societies (d) Banks

What are the modern forms of money ?
(a) Paper notes and coins (b) Coins made of silver and gold
() Coins made of leather (d) Grains and cattle

Removing barriers or restrictions set by the government on foreign trade and foreign
investment is known as :

(a) Globalization (b) Liberalization
(c) Taxation (d) Nationalisation

The Consumer Protection Act or COPRA was enacted in :
(a) 1985 (b) 1986 (c) 1987 (d) 1988

Explain the role of languages in developing the nationalist sentiments in Europe. 3x1=3

OR
Explain any three objectives of the Vietnamese students of ‘Go East Movement” ?
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19.

20.

21.

22,
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Why did Mahatma Gandhi perceive “salt’ as a powerful symbol that unite the nation ?

3x1=3
“India is highly dependent on coal for meeting its commercial energy requirement”
Support the statement with three arguments. 3x1=3
Explain any three problems faced by cotton textile industries in India. 3x1=3

Explain any three ways to control environmental degradation caused by industries. 3x1=3

How pressure groups and movements exert influence on government policies ? 3x1=3

“Most negative feature of democracy is that its examination never gets over”. Support
the statement with three arguments. 3x1=3

How does democracy produce an accountable, responsive and legitimate

government ? Explain 3x1=3
Explain the foundational challenge being faced by democratic governments. 3x1=3
How would flexibility in labour laws help companies ? Explain. 3x1=3
Analyse the role of ‘credit’ for development. 3x1=3

After 20 years of enactment of COPRA, the consumer awareness in India has not gain

momentum. Give three reasons. 3x1=3

Explain any three rights of a consumer. 3x1=3

Explain any four features of the Treaty of Vienna, 1815. 4x1=4
OR

Explain the role of women in the anti-imperial struggle in Vietnam with four examples.

Explain any four facts to show how did the First World War help in the growth of the
National Movement in India 4x1=4

Explain any four major problems faced by Indian Railways. 4x1=4

“Political parties are necessary for a democracy”. In the light of this statement explain
any four functions of the political parties in India. Ax1=4

Describe any two sources each of formal and informal credit in India. 2+2=4
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35. Two features (A) and (B) are marked in the given political outline map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the map.

(A) The place from where the beginning of Civil Disobedient Movement was
started. 1+1=2

(B) The place, where the Indian National Congress Sessions was held in 1920.
OR

Locate and label the following items with appropriate symbols on the same map :

(i) Champaran Movement of Indigo Planter.

(i) Bardoli - No Tax Campaign

Note : The following questions are for the BLIND CANDIDATES only; in lieu of map
Q. N. 35. 1+1=2

(35.1) Name the place where Indian National Congress Sessions was held in 1927.

(35.2) The place where the Non-cooperation Movement was called off.

36. Three features (A), (B) and (C) are marked in the given political outline map of India.
Identify these features with the help of the following information and write their correct
names on the lines marked in the map. 1+1+1=3

(A) Thermal Power Plant
(B) Mica Mine
(C) An Iron Ore Mine
OR
Locate and label the following items on the same map with appropriate symbols. 1+1+1=3
(i) Nuclear Power Plant - Kalpakkam
(ii) Iron and Steel Plant - Bhilai

(iii) International Airport - Netaji Subhash Chandra Bose

Note : The following questions are for the BLIND CANDIDATES only in lieu of map
Q. No. 36.

(36.1) Name the software technology park located in Uttar Pradesh
(36.2) Name the international airport in Amritsar

(36.3) Write the name of the state in which Jawaharlal Nehru port is located
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Frfofad & ¥ F-91 & 1871 & 918 JA4 H Tt a9 1 Had TR &iq o1 ?
(a) STk (b) I () U< foreA (d) SHEfE
areraT
forrqaret forenfef=i =1 qxa @t SR TS RIS 1 A I3 Al

(a) THETER ol faaam | =R ke |

(b) HSYAS! FHIE hT TN T |

() I TsrEe ht gt 9 wiefeEt grn gen fean e o
(d) SHH Gt

Trefefad § | frd 9f 7 I %l T @65 99 & ®9 H 7= & 2

(a) 1815 =t foam Hfy (b) HE=MTS Gy

(c) wiféfn dienive &t Feifas w1 (d) SRI® H A HiE T
Jrar

TS & ATIR faaaam & snfefe gfg # sy e foman -

(a) = SHEE A (b) FH HY IcEA A

(c) ToRuml o1 9 st | g g d) SHE [

HioTa 3Ta ARG & YRET H g8 Hel off :
(a) 1929 %t ‘guf TR’ Y H (b) 1930 = ‘T feaw @ wHy’
(c) 1930 H ‘TH& A’ hl dredl (d) SHE gt

1916 ¥ el ST 9 foer ° =mra # foraml =1 g favg Tod 1 & fou 9fa &+
9?

(a) Sl fA % BRI B (b) R Bt ATl
(C) THIRRI TRTH Faee (d) STE et o T

YR H HS o Gad 21k S e 91l 6T ©
(a) IS (b) T U (c) HAlH d)

frefofaa @il 8 8 &F @ @ e th Wt § gafaa g TR A fm g
(a) IYH (b) @ (c) e d) <=

fafmtor sz = Wit feen S € :
(a) Ttk (b) Tgdi= (c) Jqdr=R (d) en
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10.

11.

12.

13.

14.

15.

16.

17.

St =t TSl i <@ IS 1 ST S -
(a) @k A faum g (b) T afiee g/
(c) =1 e fafu faum gra (d) o EeE e g}

TIeR G, AR Afafaal iR o deensit onfe 1 wel S ¥ -
(a) <M fed wg (b) o fed T8 € AT (d) TIE e

et <9 % fou & o § foiges et oF fam €2
(@) T (b) wfdAr (c) Haer (d) T &=

fordt TeTifaes 91et o fou g a1t &6t &1 9 o fou o ©

(a) U Bk U FAET A1 =R Tl bl TI9H 991 & A6 H $o 7l I 6% Hd 3T U
AT =MRT |

(b) 3 Ak W H KT G HH SRGH A H =R Hi St =fsu

() SHRI®G S |

d) T 9 HE T

Frefofad & 9 i o o 1afy & <o § 9w g § 2
(a) S TG & fou THF Teerem  (b) THH T § Ifys 78 e 2 B
C dEITNTITEHAARIL!  (d) o TH g W MR ST<red 21 2 |

ST &eh R0T | e ¥ :

(a) WEHR (b) W-TWEMTE (c) FewM @Hfa (d) oF
2T % oYfTF T AT ?

(a) RETS & A 3R faan (b) €M SR =iE & a7 e

(c) <HS % o faeh d) o iR Ty

forew samaR o7 faeeht fae W stefiy =1 greif=<ai g2 i ed © -

(a) veTERTm (b) SRR (c) T T (d) PRI

RIS STHIGT Y& AT @r] gem o

(a) 1985 H (b) 1986 H (c) 1987 H (d) 1988 H

9§ qgeret WieHedl ol fashfad e § wriedi ol yfHert i e Sifag 3x1=3
3reran

forrart faenfelal o ‘qea =t 3R = ki’ o fohzl diF Sevdl sl T HifSu
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

TRICHT el = Tk Rl TP I TS i AT HH Ydleh I GHE 7 TIE HifST 3x1=3

e STt efofere Sl o1 e 1 9N T % foru rferehi: e W AR R s Ao
%1 i ot gra e o e

IR | Gl 8 e & Fae frgl i wwenei sl e sifse 3x1=3

STRTH o RO T qiawer Feftetor &l Fraf=r & & fou ffdl dF aliel =t samen 3x1=3
RIS |

TE T AR ARG TR Al T h¥ THE ST © 2 3x1=3
" PR Y HoY TRRICT foRIdT 78 § foh gHent qdiarer it THm el 2’ 39 e i

9 7 g gfie Ff 3x1=3
DIhd= HU Teh ST, FTHER 2 98 TR 3=l hidl § ? Y hifSu | 3x1=3
BRIk TXHRI o TH& AT ATl i T Hif | 3x1=3
g HIT § FEeNE fohd YR FHF1 Sl THdl T 2 T8 Hif | 3x1=3
foreht < fou ‘Ror’ ot fHeRT o fovaswor Hifse | 3x1=3
Iyt TRa sfufTem BR] M % 20 9 a1g off WRa H SusceT SrTEshdr H St T ST R

1S I HROT S| 3x1=3
AT o fohedl o= TRl st =mean shifse | 3x1=3
1815 i Tz wfe &t forl o) foRwansti sl 98 wifsT 4x1=4

rgaT

Torraamm & wra foriedt e o wfeersti st fieh St e =R SR |fed it |

‘gom fava g’ 7 IRA H TP Ao I FEIE o7 H R YR Wl i 7 fohdl ar qeAt
! AT HT | Ixl=4

IRATT YT o HHE TS fohdl R & oeAisli sl T8 Hifo | 4x1=4
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33. ‘Tt Sreha= & fou TeHIfaen gall o1 81 3Tevae & 1 39 e & ded I wra ¥ TeiHifaes
=il % fopedl SR T 1 v IR | x1=4

34. YRA | U % & HuEnies 3R < = Fidl S FF SISy | 2+2=4

35. U T wRd o TSHIfaeh W@ AT WS a8 (A) R (B) W siferd fhr e 1 3% A= S
TE TSR i TR 9 Yg=U 2R AFfas | @i T8 W@ed | 396 96 99 fofau ;. 1+1=2

(A) % TIM, el | G STaa ST<lo YR ge o |
(B) &% TIM, W&l 1920 ¥ YR TP HIIH 1 e gam |
areran
feu TTu st wEfe W & frafofed o Suge fowl @ <uisd ok 39 wd W fofaw . 1+1=2
(i) —ERA - S A S Gl B A BT ST TE ge o |
(i) IR - ‘TE TR TR

e : frfelad ue o givd faanfeEt & ye §e 35 & oF W E 1+1=2
(35.1.) 3T TN %1 &M fofay, Skl 1927 H IR T G 1 ARewE gom o |
(35.2.) % TN, AT Sl STEEANT I GHME fehan T o |

36. TSU gU 9RA & TsHITaeh Y@ AHfeA W dF @& (A) (B) (C) R 3ifera fhr mu 81 3% =
S TS SRR T FERAl H e SR A S 9 @i T8 el W 3w el 9 fofa

) SN 1+1+1=3
(B) 1UF WIH
(C) OIE 3T & @H
Irrar
feu T 35 Amfe | @ frefefaa = Suged 8 9 oufed iR 7% odt ™ fofaw : 1+1+1=3
() TR ISl GIS - FHTdRd
(i) o8 AR TH@ FI7 - e
(ili) TSI 91 qTH - ATl goy == ard

e : Frfofad uea Fae givdh Thenfil & fou T 36 & T&H W T :
(36.1) IR gew H feorq Greifient Witeerr ek %1 74 fofan |

(36.2) STAW o A<RPA a1g I 1 1 fofan |
(36.3) 39 T 1 W fofan, S&l Soe o1 Yo% Tae fed T
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Question No. 35

_INDIA

Political (Showing States)
And Adjacent Countries
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©® Government of India Copyright, 2006

‘Published by: United Publication
L-4, Shastri Nagar, Delhi - 52

Scale : 1:24,000,000 -
{tecm =

240 kms) approx.

Based upon Survey of India map with the permission of the Surveyor Genaral of India.

The tertltorial waters of India extend into the sea to a distance of twelve nautical miles measured from the appropriate base line.
Responsibility for the corractness of the internal details rests with the Publishers.

The External Bnundary and Colil-ﬁm of india shown on this map agree with the record copy approved by The Survey of India. Dehra Dun.

The Haryana ad Punjab are at Chandigarh.
The twaan l.ll!a and Mnﬂnya Pradesh-Chhattisgarh

*_have not been verified by tlln Govaernmant concerried.’

Price Rs. 1.00
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Question No. 36
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L i Based upon Survey of India map with the permission of the Surveyor General of India.
© Government of India Copyright, 2006 The tem‘t’n jal waters of India ex‘:end into d's'i soa to a distance of twelve nautical miles measured from the apprapriate base fine.
_ ” 5 Resgonsibility for the correctness of the internal details rests with the Publishers.
Published by: United Publication- S The Extsmai Boundary and Coast-line of india shown on this map agree with the recont copy approved by The Survey of Iridia. Da!yra Dun.
L-4, Shastri Nagar, Delti - 52 . Scale : 1:24,000,000 The Admi of Charidigarh, Haryana ad Punjab ars at Chandigarh.
; (1cm = 240 kms) approx.  The Interstata boundaries betwsan Uttar Pradesh-Utiranchal, Blhar-Jharkhand and Madhya Pradesh-Chhattisgarh

have not been verifisd h! the Government concernad,
e . i Price Rs. 1.00
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